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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), {b), (c) and (d}. The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle,

See the following illustrations.

lllustration:;

1. Thesumof20and 12is

{a) 32(b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

000,

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each guestion carries
one mark.

Use of calculator/mobile/any electronic itemny/
objectionable material is NOT permitted.

Controfler of Examination

P e B o o Ritle gl &t Rufy & siileh & oU w7 &t st v S|

Please note that in case of any confusion, the question printed in English will be considered final,
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Carbon dioxide joins the
photosynthetic pathway in:

a. PSI

b. pPs ||

¢. Light reaction
d. Dark reaction

Kranz anatomy is typical for:
a. G, plants

b. C; plants

c. C4 plants

d. CAM plants

The abnormal secondary growth is
observed in:

4. Wheat
b. Dracaena
c. Ginger
d. Rice

-In glycolysis, glucose splits in to

compound which are:
a. 5-C

b. 4-C
c. 3-C
d. 2-C

Absorption of water and minerals
take place in which part of root?

a. Root cap tip

b. Root hairs

c. Root epidermis
d. Root endodermis

Movement of water through semi-
permeable membrane produces

a. Wall pressure

b. Suction pressure

c. Turgor pressure

d. Osmotic pressure
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On plasmolysis, a plant cell

o

Swells up

b. Bursts

c. Becomes flaccid
d. Becomes turgid

Following is used for measuring the
rate of water uptake of a leafy
shoot in plants:

a. Potometer
b. Auxanometer
c. Barometer
d. Porometer

The edible part of mango is:
a. Epicarp

b. Pericarp

c. Mesocarp

d. Endocarp

The foliowing helps in ascent of sap
Root pressure

b. Transpiration

c. Capillarity

d. Root pressure and Capiliarity

o

Rate of transpiration increase with
ihcrease in:

a. Temperature

b. Carbon dioxide concentration

¢. Atmospheric humidity

d. Root shoot ratio

Haploid plants can be produced
from:

a. Leaf culture
b. Bud Culture

c. Anther culture
d. Root culture

A major application of embryo
culture is in:
a. Overcoming hybridization barriers

b. Clonal propagation
c. Production of embryoids
d. Induction of somacional variations
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The role of double fertilization in
angiosperms is to produce:

a. Endocarp

b. Hormones

¢. Cotyledons

d. Endosperms

Plants which are not differentiated
into root stem and leaves are
grouped under:

a. Gymnosperms

Pteridophytes

Thallophytes

Spermatophytes

=S <

Which are the most primitive group
of aigae?

a. Blue green algae
. Red algae

b
€. Brown algae
d. Green algae

Which of the algae is responsibie for
red colour of Red Sea?

8. Chlamydomonas brauii

b. Trichodesmium erythraeum

. Ulothrix zonata

d. Chlamydomonas desmids

Gymnospermic plants

a. bear flowers

b. exhibit no vascular tissue

c. produce seed in cones

d. do not produce seed in cones

[N Gymnosperms pellination is
exclusively by:

a. Wind
b. Insects

c. Water
d. Animalis
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A bisexual flower which never opens
in its life cycle is:

a. Homogamous

b. Heterogamous

c. Cleistogamous

d. Polygamous

The edible portion of coconut is:

a. Endosperms
b. Epicarp

c. Pericarp
d. Seed coat

Saffron is produced from:
Roots of Indigofera

b. Petals of Rosa
¢. Stamens of Hibiscus
d. Style and Stigma of Crocus

w

Casparian strips are present in
a. Pericycle

b. Endodermis

c. Hypodermis

d. Collenchyma

Grafting is  not possible  in
monocotyledons because

a. they lack cambium

b, they have scattered vascular
bundles

c. they are herbaceous

d. they have parallel vascuiar
bundles

Cryopreservation is a technique

used for

a. Crystallization of food
b. Food packing
c. Seed saving

4 Preservation of  excess
production of vegetables
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Tissue culture is a good technique to

a. To cross two varieties

b. To rapidly increase the size of
a tree by strengthening the stem

C. To eliminate virus
d. Toimprove yield of crops

The following is not a plant growth
regulator

a. Acetic acid
b. Auxins

c. Gibberellins
d. Ethylene

Mycorrhizae is associated with the
following :

a. Formation of root nodules

b. Hyphae penetrating the soil

¢. Found mostly in lower plants

d. Soil erosion

Onion and garlic are examples of:

a. Rhizome
b. corm

c. stem tuber
d. buib

Carbon monoxide is pollutant as it

Inactivates nerves
Inhibits glycolysis
. Combines with oxygen

o p

d. Combines with haemoglobin

Ozone layer is found in

8- Thermosphere

Stratosphere
Mesosphere
Lithosphere

oo

Green house effect is related to
a. Increased growth of green algae
. Global warming

b
c. Cultivation of vegetables in house
d

. Development of terrace gardens
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83. Lichens indicate pollution by 83. TTEHT THOF ST WEHU qEMd g2

a. Os a. Oz
b. NO; b. NO2
C. SOz C. 802
d. CO . d. CO
g4 World Environment Day is 84. Fer waiawor fe=g g
a. 28th February a. 28 WA
b. 5th June b. 5 S
c. 7th August c. 7 S
d. 10th April d. 10 =5«
85. Water blooms are formed by 85. (T WEpET fash gIT el §?
a. Lemna a. |l
b. Hydrilla b. grefgeT
¢. Water hyacinth C. e gged
d. Planktonic algae d. SgAE a9
86. Increasing skin cancer and high 86. gEaT =T OX X 9F Irdad
mutation rate are due to : zx g @ ¥ g
a. Qg depletion a. o, % FHI
b. Acid rain b. wf¥s &
. CO poliution c. CO YgHI
d. CO. pollution d. CO, FguIT
87. Linnaeus is credited with introducing g7. g v frgsr afgg W H Y
a. The concept of inheritance feer ot <
o a. farag # =g
b. Law of limiting factor
c. Theory of heredity b. ﬁﬁw FRF FT_AT
. c. sEfeERaT 1 HE
d. Binomial nomenclature
d. fgug ATHELOT
88. Basic taxonomic unit is 88. 94 it T o
a. Kingdom a. fowew
b. Genus b. S
c. Order c. e
d. Species d. gt

89 ltai-itai disease is due to the toxicity of: 89, wTS-zer¥ AW frad FRwrwar &

FWOT BrET &-
a. Lead a. ge
b. Cadmium b. Fefaq
C. Strontium c. weifead
d. Tin d. feq
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80. Homozygosity and heterozygosity of
an individual can be determined by

4. Back cross

- Self-fertilization

C. Test cross

- Criss Cross Inheritance

=
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91, How many phenotypes can occur in
the human blood group ABO with
alleles 1*|B?

2

2 ooy

3
4
1

92. The geometrical device that helps to
find out all the possible combinations

of male and female gametes
4. Bateson Square

Mendel Square

Punnett Square

. Mendel's Cube

oo o

93.

photosystem ! contains a
metalloenzyme core containing:

a@. Calcium and manganese
b. Manganese and Iron
C. Magnesium and Calcium
d. "Magnesium and Iron

94. Red sandalwood is:

8- Santalum album
Pterocarpus marsupium

Pterocarpus santalinus
Butea monosperma

o o

o

95." Which of the following statements is

frue about the ends of the
chromosome?

a. Are called Sateliites

- Are called Centromeres
Are called Telomeres

- Are called Kinetochore

o o0 o

The Oxygen Evolving Complex in
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96. Which of the following statements is
. true about the chromatin composition?

a. DNA

b. RNA

€. DNA and proteins

d. DNA, RNA and proteins

97. The National Botanical Research
Institute is located at:

Lucknow

b. Delhi

¢. Dehradun

d

. Gangtok

w

08. Protein sample is first treated with
detergent sodium dodecyl sulfate in
SDS-PAGE to:

a. make the protein become
positively charged

b. renature protein

c. make the protein become

negatively charged
d. adjust pH of the protein

99. The diagrammatic representation of
karyotype of a species is known as

Cladogram
Ecogram
Chromogram

o o T

Idiogram

100. Which plant hormone is associated
with closing of stomata?

IBA
. GA

ABA
Cytokinin
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